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1. Excess demand in an unregulated market
leads to
(A) Increase in quantity demanded
(B) Increase in the price
(C) Fall in the price
(D) Fall in the quantity demanded

2. A competitive profit maximising firm should
hire workers upto the point where
(A) the wage rate, interest rate, profit rate

and rental rate are all equal.
(B) the marginal product of labour equals

to zero and the production function
is maximised.

(C) the marginal physical product of
labour is equal to wage.

(D) the value of the marginal product of
labour is equal to wage.

3. The shape of Keynesian Aggregate
supply curve at the existing price level is
(A) Horizontal line
(B) Vertical line
(C) Downward sloping
(D) Upward sloping

4. Who said “we are all Moneterists” ?
(A) Milton Friedman
(B) James Duesenberry
(C) Franco Modigiliani
(D) Stanley Fisher

5. Fei-Rani’s theory is an improvement over
(A) Rostow’s theory
(B) Nurkse theory
(C) Lew’s theory
(D) Leibenstein theory

ECONOMICS
�)g��
��
����h���		

Paper – II

-����a��– II

1. ���������ij���	
��������
��'�������������������

��������
������"���
��	����� 
�
(A) ������ ���!�������

����"#��'�$������%����
(B) ������ ������'�"#��'�$������%����
(C) ������ ������'�&��$���k���%����
(D) ������

�����#	���
l"
��#���'m���!�����

2. �()(%*���� $��	�+n
� �,��������*���o����'m�p"� ��
��-� �.�/�����%
�0�"������1%*����o����q
�������!������'������2*��r34��� 
�
(A) �,�&��*���,'��5�����p�6�,'��5�)(�����,'�������	0�"����()(%

�,'��������
*������$���������'����
(B) �.�/�����7'3
&���7&��89 �.�"
*�:����������
*�������'��5

7&��89 ��s%
�$��	�+n��������

(C) �.�/����5� )t9����7'3
&���7&�8������&��� �,�&��*�����

�����
*������$���������'����
(D) � . �"� ����7 ' 3 
 & ���7 & � 8 � ��� ��� / % � � ��� � ,�& ��* � � � ��

�����
*�������

3. ��#��� &���������'%�r3-�'���������;��p�*<�u���/�=+n����#>0<"���,'?�v�1��'

@�/����
$1�7
��
�
(A) A��9w������

&����'
$1
(B) A��9w�%
������$1
(C) ����
�������%��,'?$1
(D) "#B�������C"�,'?$1

4. x����*������
&���������:�������%�����y�D�����'�����'38��'��z
(A) /�%E*<���Fs�������*<�
(B) GC"�<��u�����:��*<��	
(C) �{3
�2���������4H0�"
�
(D) "�E�'��*<�H�=s�+��'

5. =s-��'�|��=���j
&���������,�����
�I"�������'�$��B*����z
(A) �JrmE�=���j
&�������
(B) *����'��u�=���j
&�������
(C) %
�'��|��=���j
&�������
(D) �I"�*<�F�E*<��=���j
&�������
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6. The correct expression for the actual rate
of growth ‘g’, where ‘s’ is the ratio of
savings to income and ‘c’ is the
incremental capital-output ratio is

(A)
c
s

g =

(B) g = s * c
(C) g = s + c
(D) g = s – c

7. Which one of the following is not an
objective of budgetary policy ?
(A) Growth
(B) Redistribution
(C) Communal Harmony
(D) Stabilization

8. The Head Quarters of World Trade
Organisation is located in
(A) Geneva
(B) Brussels
(C) New York
(D) New Delhi

9. TRAI stands for
(A) Telephone Regulatory Authority of

India
(B) Telecom Regulatory Authority of

India
(C) Telephone Reform Authority of India
(D) Training and Research Academy of

India

10. The association of attributes can be tested
by
(A) ‘Z’ test
(B) ‘t’ test

(C) ‘
2χ ’ test

(D) ‘F′ ’ test

6. s �*,���'}�����#!�v��0�"����+89 5� c � * ,��� " # 	 4 * ��
����
%����*���7&��89 ���+89 ���'��*������� �������K�j�,'���‘g’ ����
�����
*������$������L������'l"�����

(A)
c
s

g =

(B) g = s * c

(C) g = s + c

(D) g = s – c

7. ����
������������~�<"�/���*���7�,�;.�"
��1��

(A) ���K�j
(B) �#!*����#
=#l�"
(C) ����&��r3������'��:


(D) =�-��'&��M


8. ��#�#
������l�"w:���
��-��,�
�����r3-*��
�7*��N��'3
&��


(A) GI"O��

(B) �����<"u
(C) *��
:0�"
��'�

(D) �2&�� �����>

9. TRAI �*���*���

(A) )(��'&����I"H{m*<����'$���:�C"�P����	�p"
(B) )(��'&����I"H�1�<�����'$���:�C"�P����	�p"
(C) �I"H{m*<��	{3�<������	�p"�v|s�Q
���0�"

(D) )(��'&�����C"�
$�������	0�"����#	.�����������1���/�

10. $���l(%���������:���
�
�����N��#PA��
�,���#���j9
(A) ‘Z’ �#PA��
(B) ‘t’ �#PA��
(C) ‘

2χ ’ �#PA��
(D) ‘F′ ’ �#PA��
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Note : Choose the correct combination according
to Codes :

11. The indifference curves

I. are concave to origin

II. are negatively sloped

III. do not intersect each other

IV. indicate preferences of consumers

Codes :
(A) I and II are correct
(B) II and III are correct
(C) II, III and IV are correct
(D) I, III and IV are correct

12. In monopolistic competition

I. The price cross elasticity of demand
for the products lies between zero and
infinity

II. The long-run equilibrium occurs at
minimum average cost

III. Firms sell their identical products

IV. Firms have to advertise to increase
their sales

Codes :
(A) I and II are correct
(B) II and III are correct
(C) I, II and III are correct
(D) I, II and IV are correct

13. The GDP deflator is the ratio of

I. Nominal GDP in a given year to real
GDP of that year

II. GDP at current prices in a given year
to GDP at constant prices of that year

Codes :
(A) I only correct
(B) II only correct
(C) I and II correct
(D) None of the above

(�
���	'��
 : �J���u���M�1���	0I"�B*�����������0�"
�N�D
=#�����,�0�"������� :

11. 7��F�*�����������,'?%�
I. ����
%�q
�������!������#!�(�1��'
$1�7
�(�'��
II. ���l(&���������%�*�������H4�7
�(�'��
III. �#��'��8��'
�?
���
�����J���!
IV. /�0I"
$������'�%�����'�����%*������
Rr3 �'��

�*+a�_ :
(A) I ����	0�"�� II ��	0I"�B*��/
(B) II ����	0�"�� III ��	0I"�B*��/
(C) II, III ����	0�"�� IV ��	0I"�B*��/
(D) I, III ����	0�"�� IV ��	0I"�B*��/

12. ����r3M����:�'m�p"��
I. 7 & ��8 & ���  %� G ( & ��: 
 & ��� �'� � ��� ��
 
 � ��� � � : � J � ��& ��M � ��� �

���*�N������*��
&��������������:�7
��
�
II. �����+n���$��������:0�"�������������;�i��'��1%�������&�%:�����
���'8����&���
�

III. ��
��-%��&�������r3��'
�#:������� ���!%*�����������&��'��
IV. ��
��-��������1%*����"#
������������#����*��%*�����,�r3 �'��

�*+a�_ :
(A) I ����	0�"�� II ��	0I"�B*��/
(B) II ����	0�"�� III ��	0I"�B*��/
(C) I, II ����	0�"�� III ��	0I"�B*��/
(D) I, II ����	0�"�� IV ��	0I"�B*��/

13. GDP deflator �&��4k
�,���0I"���������+89 
I. Q���M����*�����
���&��u��'
���*��������
�&��� GDP �������� ���

GDP ����$��%���
�
���������
II. Q���M����*�����
���&��u��'
�����#��� &���������'%���GDP ���

=�-��'������'��� GDP ����$��%���
�
���������

�*+a�_ :
(A) I ���
�&���,�����	0I"�B*��/
(B) II ���
�&���,�����	0I"�B*��/
(C) I ����	0�"�� II ��	0I"�B*��/
(D) "#B�,�L��1���!
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14. If the demand for money responds strongly

to income and weakly to interest rates, the

shape of the LM curve is

I. Upward sloping

II. Downward sloping

III. Flatter

IV. Steeper

Codes :

(A) I and III

(B) I and IV

(C) II and III

(D) II and IV

15. Privatisation initiatives in India includes

I. Transferring a part of public enterprises

share to the private sector

II. Liberalisation of entry into activities

previously reserved for the public

sector

III. Mergers and acquisitions

IV. Contracting out public services or

leasing public assets to the private

sector

Codes :

(A) III only correct

(B) II and III correct

(C) I, II and IV correct

(D) I, II, III and IV correct

14. �������:������

����v��0�"������*��������%�����$1� ����p�6�,'�>����
�%FS"*��
$1���8
�
R*���>�'��&,� LM �,'?�v�1��'�����

I. "#B������%�&���
�

II. ����
�������%�&���
�

III. &�������������%�&���
�

IV. D�����������%�&���
�

�*+a�_ :

(A) I ����	0�"�� III

(B) I ����	0�"�� IV

(C) II ����	0�"�� III

(D) II ����	0�"�� IV

15. ) ( � �'& ��� ,�. �"� ��� � � �� � � # �'� � � ,� � �"� p�� ��� �'l"� � � # 0 �"� & � N � � >�@

�
.�%����/���&������B*��/

I. � � # ) �"� & ��M � �'
 $ ��� � � � ( � �� � 2 
 & ��) ( $ 1 � N� � � # �'� � � ,�� �

��'
$1���������,�0�"����


II. $ ��& ��
 � �� � � # ) � "� & ��M � �'
 $ 1 � � ��� � ,�� ( �'� � 
 R * ��
�1��':����('3%*��������'T���K&��
��,�0�"����


III. ��p������'l"5����B�����
��,�����J������


IV. ��#)�"�&��M� U����%*����Q&����'�%�������#84
������
� �C"��

��#)�"�&��M�v��� %*���� ��#�'���,���� ��'
$1����� ��%�����
Q���M���


�*+a�_ :

(A) III ���
�&���,�����	0I"�B*��/

(B) II ����	0�"�� III ��	0I"�B*��/

(C) I, II ����	0�"�� IV ��	0I"�B*��/

(D) I, II, III ����	0�"�� IV ��	0I"�B*��/
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16. The assumptions of the Heckscher-Ohlin
model

I. Two factors – two commodities – two
countries model

II. Absence of transport cost

III. One factor – two commodities – two
countries model

IV. Two factors – one commodity – two
countries model

Codes :
(A) I and II correct
(B) II and III correct
(C) III and IV correct
(D) I and IV correct

17. Pure public good is characterized by

I. Non-rivalry in consumption

II. Non-excludability

III. Variable price

IV. Quantity regulation

Codes :
(A) I only
(B) I and II
(C) I, II and III
(D) I, II, III and IV

18. Economic Growth may be represented by

I. Rightward shift of production possibility
curve

II. Leftward shift of production possibility
curve

III. Production possibility curves that
remain fixed

Codes :
(A) I only correct
(B) II only correct
(C) I and II correct
(D) I, II and III correct

16. "S"���u��'��=S">*<��=���j
&�����#�,��0�"
%�

I. ��'
������1��'�1%� – ��'
����������� ���!%� – ��'
������,�.�%
*������
*�

II. ��'��l(�?��'�V%���C"���'m������

III. o���� �1��'���
 – ��'
����� ������ ���!%� – ��'
����� �,�.�%

*������
*�
IV. ��'
����� �1��'�1%� – o�,�� ������ ���! – ��'
����� �,�.�%

*������
*�

�*+a�_ :
(A) I ����	0�"�� II ��	0I"�B*��/
(B) II ����	0�"�� III ��	0I"�B*��/
(C) III ����	0�"�� IV ��	0I"�B*��/
(D) I ����	0�"�� IV ��	0I"�B*��/

17. .�"����;���#)�"�&��M������� ���!�%A��l(%�
I. /�0I"
$����������'m�p"��C"���'m������

II. �=S"�+���'l"�����L%���C"���'m������

III. ���%*���������'
IV. �#	���
l"��0�"�
�&��l"

�*+a�_ :
(A) I ���
�&���,��
(B) I ����	0�"�� II
(C) I, II ����	0�"�� III
(D) I, II, III ����	0�"�� IV

18. v	-�������K�j��&��H0�"�GC"U���#���j9
I. 7&��89 �$������*���,'?�����������B�#!�����o��'$�����

II. 7&��89 �$������*���,'?�D����������B�#!�����o��'$�����

III. 7&��89 �$������*���,'?��%������$1�7
����


�*+a�_ :
(A) I ���
�&���,�����	0I"�B*��/
(B) II ���
�&���,�����	0I"�B*��/
(C) I ����	0�"�� II ��	0I"�B*��/

(D) I, II ����	0�"�� III ��	0I"�B*��/
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19. For a normal distribution

I. Co-efficient of skewness = 0

II. Co-efficient of Kurtosis = 3

III. The range is α−  to α+

IV. The range is σ−  to σ+

Codes :

(A) I, II and IV only

(B) I, II and III only

(C) I and II only

(D) I and III only

Note : The following questions consist of two

statements : one labelled as the

‘Assertion’ (A) and the other as

‘Reason’ (R). You are to examine these

two statements carefully and select the

answers to these items using the Codes

given below :

20. Assertion (A) : The traditional economic

theory of firm concentrates on the second

stage of the law of variable proportions.

Reason (R) : In this range the marginal

product of variable factor is positive and

increasing.

Codes :

(A) Both ‘A’ and ‘R’ are true and ‘R’ is

the correct explanation of ‘A’

(B) Both ‘A’ and ‘R’ are true but ‘R’ is not

the correct explanation of ‘A’

(C) A is true but ‘R’ is false

(D) ‘A’ is false but ‘R’ is true

19. r3���
*��:�/)(w*��
��

I. �r��+n����$���l"���������/%���� = 0

II. ����������&��M�$���l"���������/%���� = 3

III. ��:=#  α−  *���
��� α+ �����'����

IV. ��:=#   σ−   *���
���  σ+

�*+a�_ :
(A) I, II ����	0�"�� IV ���
�&���,��

(B) I, II ����	0�"�� III ���
�&���,��

(C) I ����	0�"�� II ���
�&���,��

(D) I ����	0�"�� III ���
�&���,��

�*D\� : ����
����#.�"N%����'
�������#9'3���*��%*�������H4�7*��N/W�o���
�������#9'3���*�� (A) ��'
������������US"&������! (R) $1
$���	 
����������B*���W��L���'��@���#9'3���*��%*�����#	�H
R
� � ��
 �� � J � ��u* ����7 � # 0 I"
 4 
 R� w� � � � % * ����D 
 = # � ��
�,�0�"�������

20. ���@;J#����� (A) : �#!�1&��*�����
��������'-.�����=���j
&�������5
����1*���'3&���=���j
&�����'
����������.�"��*,���,�
�i���K&��
��,���� 
�

-U����	���= (R) : Q����������'-���
&������B*������.�"5�Q����������'�7&��89 
� 1 � �'� ��� 7 ' 3 
 & ��� 7 & ��8 9  � � � ��* � & ���� ��
 $ 1� 7 
 � ��
"#��'�$���&���
��
�

�*+a�_ :

(A) A ����	0�"�� R ��'
���
� ��	0I"�B*���,� R, A ����
��	0I"�B*���/�����'l"$1�����#8�������V

(B) A ����	0�"�� R� ��'
���
� ��	0I"�B*���,�5 R, A ����
��	0I"�B*���/�����'l"��1����

(C) A ��	0I"�B*���,���1��R ��	0I"�B*�����1����

(D) A ��	0I"�B*��/��1������1� R ��	0I"�B*���
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21. Assertion (A) : In the modern theory of

costs, the long run average cost curve is

L–shaped

Reason (R) : The production costs fall

continuously with increases in output and

any increase in managerial costs is more

than offset by the fall in the production cost

Codes :

(A) Both ‘A’ and ‘R’ are true and ‘R’ is

the correct explanation of ‘A’

(B) Both ‘A’ and ‘R’ are true but ‘R’ is not

the correct explanation of ‘A’

(C) ‘A’ is true but ‘R’ is false

(D) ‘A’ is false but ‘R’ is true

22. Assertion (A) : Under conditions of perfect

capital mobility, an expansion in exports

has no lasting effect on equilibrium output

Reason (R) : The real disturbances to

demand do not affect equilibrium output

under flexible rates with perfect capital

mobility

Codes :

(A) Both ‘A’ and ‘R’ are correct and ‘R’

is the correct explanation for ‘A’

(B) Both ‘A’ and ‘R’ are correct, but ‘R’ is

not the correct explanation for ‘A’

(C) ‘A’ is correct, ‘R’ is false

(D) ‘A’ is false, ‘R’ is correct

21. ���@;J#����� (A) : v�������������:0�"��=���j
&����������i��'��1H���

��$��������:0�"��,'? L v�1��'
���7
��
�

-U����	���= (R) : 7&��89 �"#��'�$������%������*���$���l"
$1�7&��89 

� ��: 0 �"� 
� & ��$ ��k� ��
 & J� X ( � � 5�0 �"
w� ��
 * ��:� � ��: 0 �"� 
 � �

"#��'�$������%*�������
�������9����/���� 
�

�*+a�_ :

(A) A ����	0�"��� R ��'
���
� ��	0I"�B*���,�5 R, A ����

��	0I"�B*���/�����'l"$1�����#8�������V

(B) A ����	0�"�� R  ��'
���
���	0I"�B*���,���1��R, A ����

��	0I"�B*���/�����'l"��1����

(C) A ��	0I"�B*���,���1� R ��	0I"�B*�����1����

(D) A ��	0I"�B*�����1���� R ��	0I"�B*���

22. ���@;J#����� (A) : � � 
 � # Y � �'Z� � ��� 
 % � � ��* ��� $ ��� ��� * ��� �& ��%

7*��N�#�����5�D$�������&���%�/�� ��'l"5� ������&�%:�7&��89 "#B

D�(
��"�.�.�"M&�����#)(���N����*���#��'�������

-U����	���= (R) : ��
�#Y��'Z�����
%����*���$������*��
&J�X(�������'[�"

� ��
 � �'� ��� � ,'� ��7 * ��N � # ! � ���� � ��� ��
 
 � ��� ���� �� �'8 � ,�� � � � �  / � ��

o���������������%��������&�%:�7&��89 ����#)(/&��
��,�0�"����!

�*+a�_ :

(A) A ����	0�"��� R� ��'
���
� ��	0I"�B*���,�� R, A ����

��	0I"�B*���/�����'l"$1�����#8�������V

(B) A ����	0�"�� R ��'
���
� ��	0I"�B*���,�  R, A ����

��	0I"�B*���/�����'l"��1����

(C) A ��	0I"�B*����R ��	0I"�B*�����1����

(D) A ��	0I"�B*�����1�����R ��	0I"�B*���
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23. Assertion (A) : Both the Keynesian and

the Monetarists explanations of the 1930

Depression are equally important in Macro

economic analysis

Reason (R) : Both the Keynesian and the

Monetarist explanations provide

satisfactory solutions for 1930 Depression

Codes :

(A) Both ‘A’ and ‘R’ are correct and ‘R’

is the correct explanation for ‘A’

(B) Both ‘A’ and ‘R’ are correct, but ‘R’ is

not the correct explanation for ‘A’

(C) Both ‘A’ and ‘R’ are false

(D) ‘A’ is correct, but ‘R’ is false

24. Assertion (A) : Innovation is key to

industrial expansion

Reason (R) : Innovations tend to be

copied by others

Codes :

(A) Both ‘A’ and ‘R’ true and ‘R’ is the

correct explanation of ‘A’

(B) Both ‘A’ and ‘R’ are true but ‘R’ is

not the correct explanation of ‘A’

(C) ‘A’ is true but ‘R’ is false

(D) ‘A’ is false but ‘R’ is true

23. ���@;J#����� (A) : 1930 ������'8���*���v	-�������

��:����

�p�*<�u�������%������	0�"����������:������%��QRV*���/�����'l"%�

��
-%�v	-����/.,">�+l"��������
*����'3�����?:&��*�������H4*��/

-U����	���= (R) : �p�*<�u�������%������	0�"����������:�������%�

1930 v	 - � ��� � ��
 
 � � : � � ��� � � 
 & ��K = #  � ��� �'� ��� B * ��

�#	�3��1%*����Qr3 �'��

�*+a�_ :

(A) A ����	0�"�� R ��	0I"�B*���,��R,  A �������	0I"�B*��

/�����'l"

(B) A ����	0�"�� R ��	0I"�B*���,��R,  A �������	0I"�B*��

/�����'l���1����"

(C) A ����	0�"�� R ��'
���
���	0I"�B*��/��1���!

(D) A ��	0I"�B*���,���1��R ���	0I"�B*�����1����

24. ���@;J#����� (A) : '3	�.�"/�����/�� ��'l"����� *��������%8*��

����
%�����

-U����	���= (R) : r3�����'l"
$1�*��������%8*��%��Q&����'�%�,�

�1F#��,�0�"�����&��'��

�*+a�_ :

(A) A � ��� 	 0 �"� � R ��'
���
� ��	0I"�B*���,�� R, A

0I"���������	0I"�B*���/�����'l

(B) A � ��� 	 0 �"� � R ��'
���
� ��	0I"�B*���,�� R, A

0I"���������	0I"�B*���/�����'l��1����"

(C) A ��	0I"�B*��� R ��	0I"�B*�����1����

(D) A ��	0I"�B*�����1������1� R ��	0I"�B*���
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25. Assertion (A) : Indirect taxes increase

inequality in the distribution of income

Reason (R) : Poor people bears more

burden of indirect taxes

Codes :

(A) Both ‘A’ and ‘R’ are true and ‘R’ is

the correct explanation of ‘A’

(B) Both ‘A’ and ‘R’ true but ‘R’ is not the

correct explanation of ‘A’

(C) ‘A’ is true but ‘R’ is false

(D) ‘A’ is false but ‘R’ is true

26. Assertion (A) : According to David

Ricardo trade is beneficial to trade partner

countries due to comparative cost

advantages

Reason (R) : International trade enhances

the allocative efficiency of resources

Codes :

(A) Both ‘A’ and ‘R’ true and ‘R’ is the

correct explanation of ‘A’

(B) Both ‘A’ and ‘R’ are true and ‘R’ is

not correct explanation of ‘A’

(C) ‘A’ is false but ‘R’ is true

(D) ‘A’ is true but ‘R’ is false

25. ���@;J#����� (A) : �#�JA��� � �#*���N%��v��0�"�� �#
=#lp"��

������
*��&��%*����"#
����&��'��

-U����	���= (R) : �#�JA����#*���N%��������)(�1�N�U#������#w%�

)�"	r3 ��'�

�*+a�_ :

(A) A ����	0�"�� R ��'
���
� ��	0I"�B*���,�� R, A ����

��	0I"�B*���/�����'l"

(B) A ����	0�"�� R ��'
���
� ��	0I"�B*���,�� R, A ����

��	0I"�B*���/�����'l���1����"

(C) A ��	0I"�B*�����1� R ��	0I"�B*�����1����

(D) A ��	0I"�B*�����1������1��R ���	0I"�B*���

26. ���@;J#����� (A) : �,�/����	�1��'6���#�1��'�����5�&���%*�&������

���:0�"���*������
%&��� ���%>5� ��:'3��'� )($��r3M����:� �,�.�%�

�
&���1~�0�"�������' ������������%>�%q;'}
���$��%���!

-U����	���= (R) : � 
 & ��� 1 ~� 0 �"�� � ��� �'  � ��� ��� �� � ��* ��� �'� %

�,��(�'��
�#!�r3������'-:&��*����"#
����&���
�

�*+a�_ :

(A) A ����	0�"�� R ��'
���
���	0I"�B*���,��R, A 0I"������

��	0I"�B*���/�����'l"

(B) A ����	0�"�� R ��'
���
� ��	0I"�B*���,�� �1��R, A

0I"���������	0I"�B*���/�����'l���1����"

(C) A ��	0I"�B*�����1������1� R ��	0I"�B*���

(D) A ��	0I"�B*�����1��R ���	0I"�B*�����1����
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27. Assertion (A) : Major focus of initial public

investment in India was on agriculture

Reason (R) : The population dependent

on agriculture was large

Codes :

(A) Both ‘A’ and ‘R’ true and ‘R’ is the

correct explanation of ‘A’

(B) Both ‘A’ and ‘R’ are true but ‘R’ is not

the correct explanation of (A)

(C) ‘A’ is true but ‘R’ is false

(D) ‘A’ is false but R is true

Note : Sequencing type : (28 – 36)

28. Arrange the following market models in the

chronological order of their development

I. Cournot Model

II. Bertrand Model

III. Chamberlin Model

IV. Paul Sweezy Model

Codes :

(A) II, I, III and IV

(B) I, II, III and IV

(C) I, II, IV and III

(D) II, IV, III and I

27. ���@;J#����� (A) : )(��'&���,�.�"
��� �'3��'
)�"
��� ��#)�"�&��M

"#��E��������:���r30�"����'
$��
"#B�7
���*���

-U����	���= (R) : ���:���r30�"������"#B� v�����'�#���*��� ����'�

�����������$1�7
���*���W

�*+a�_ :

(A) A ����	0�"�� R ��'
���
���	0I"�B*���,��R, A 0I"������

��	0I"�B*���/�����'l"

(B) A ����	0�"�� R ��'
���
� ��	0I"�B*���,�� �1��R, A

0I"���������	0I"�B*���/�����'l���1����"

(C) A ��	0I"�B*�����1� R ��	0I"�B*�����1����

(D) A ��	0I"�B*�����1������1��R ���	0I"�B*���

(�
���	'��
� : �����'���������
�������
�
��
R*��/ : (28 – 36)

28. � � ��
 �� � ��
 � �'� � �� * ��� ��� 
 * � % * ���� � � � �"� � 1 % � � ��� ��� 
 � �

�������'�V�����

I. ���
�1N�<"�*������
*�

II. XI"��(
����*������
*�

III. ��
�	>*<��*������
*�

IV. '3�<"�F�M��*������
*�

�*+a�_ :

(A) II, I, III ����	0�"�� IV

(B) I, II, III ����	0�"�� IV

(C) I, II, IV ����	0�"�� III

(D) II, IV, III ����	0�"�� I
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29. Arrange the following criteria of welfare
economics in the chronological order of
their development
I. Growth criterion
II. Greatest Good for the greatest number

criterion

III. Pareto optimality criterion
IV. Compensation criterion

Codes :
(A) I, II, III and IV
(B) II, III, I and IV
(C) IV, III, II and I
(D) III, II, I and IV

30. Arrange the following of Macro
Economists in a sequential order

I. Classicals

II. New classical

III. Keynesians

IV. New Keynesians

Codes :
(A) I, II, III and IV
(B) I, III, II and IV
(C) II, III, IV and I
(D) IV, II, I and III

31. Arrange the following components of
Broad Money supply according to their
contribution (%)
I. Currency with the public

II. Demand Deposits

III. Other deposits with RBI

IV. Time Deposits

Codes :
(A) I, II, III and IV
(B) IV, II, I and III
(C) IV, I, II and III
(D) III, II, IV and I

29. � � ��
 �� � � 
 A ,�� ����� � �' - . � � � �� � # � ��j& ��� % * ��� 5� � � � �"���� ��K � j
v�����'
$1���������
����������'�V�����
I. ���K�j��2%���
*����#���j9
II. �&��:��������
\(:����%5��&��:��������#0I"
w*����#���j9
III. '3	�����%�+lp"0�"���#���j9
IV. �#	]��'��#���j9

�*+a�_ :
(A) I, II, III ����	0�"�� IV

(B) II, III, I ����	0�"�� IV

(C) IV, III, II ����	0�"�� I

(D) III, II, I ����	0�"�� IV

30. ����
����
-%����'-.������,�&�� %*���������'����������
����������'�V�����
I. ��
��#��0�"�������%�
II. *��
&��*�����
��#��0�"�������%�
III. �p�*<�u�������%�
IV. *��
&��*����p�*<�u�������%�

�*+a�_ :
(A) I, II, III ����	0�"�� IV

(B) I, III, II ����	0�"�� IV

(C) II, III, IV ����	0�"�� I

(D) IV, II, I ����	0�"�� III

31. � � ��
 �� / . � %� � � ��� ��:� � � � �' �s� 1� ) ( $ 1 % * ���� � � � � "
���(%*��*�����	
R��������'�V����� (%)

I. ��#w%������;�7*��N������'Ou
II. ������

�������'3^��>
III. v��'WqW_W�������;�7*��N�Q&����'����'3^��>
IV. �1%�#	/�9����'3^��>

�*+a�_ :
(A) I, II, III ����	0�"�� IV

(B) IV, II, I ����	0�"�� III

(C) IV, I, II ����	0�"�� III

(D) III, II, IV ����	0�"�� I
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32. Indicate the correct sequence for Rostow’s
stages

I. Premitive Economy

II. Drive to Maturity

III. Take off

IV. Preconditions for take off

Codes :
(A) I, II, III and IV
(B) II, IV, III and I
(C) III, IV, I and II
(D) I, IV, III and II

33. Select the right code given below to
indicate the sources of government
revenue in India, in descending order of
their importance

I. Income tax

II. Customs duty

III. VAT

IV. Capital Gain tax

Codes :
(A) III, II, IV and I
(B) IV, III, I and II
(C) II, IV, III and I
(D) III, I, II and IV

34. Arrange the forms of regional trading
arrangements in a sequential order

I. Free Trade area

II. Common Market

III. Customs Union

IV. Economic Union

Codes :
(A) I, II, III and IV
(B) I, III, II and IV
(C) II, III, IV and I

(D) III, II, IV and I

32. �Jr�E����.�"%*�����w����B*������������#���j9���&��H0�"�GC"0�"�������
I. �#!�1&��*���v	-�������:�����-
II. ������<������������
P��"
III. �#>���*������.�"
IV. �#>���*������.�"������1���%=�*�����
����*��%�

�*+a�_ :
(A) I, II, III ����	0�"�� IV
(B) II, IV, III ����	0�"�� I
(C) III, IV, I ����	0�"�� II
(D) I, IV, III ����	0�"�� II

33. ) ( � �'& ��� ,�. �"� � � # ) �"� & ��M� � 1 � � ��� � ��
 � 1 k% * ��� 5� � ' 3 � � � * � : � N
�����J�S"l"��������
�N���
R
�,���J���*����D
=#�����,�0�"�������
I. v��0�"���#*���N
II. D$�������9��$�������9����
�1%�
III. � � : � <"�(VAT)

IV. ����
%����*����()�"��#*���N

�*+a�_ :
(A) III, II, IV ����	0�"�� I
(B) IV, III, I ����	0�"�� II
(C) II, IV, III ����	0�"�� I
(D) III, I, II ����	0�"�� IV

34. �'3
�0�"����:'3��'����
�/����'
'3%*���������'�����������
��
�������'�V�����
I. U�M��`���:'3��'��'3
&��

II. 7������������
��'���
III. �����E�<��u�0�"�
�0�"�*<��������
?:�
IV. v	-���������
?:

�*+a�_ :
(A) I, II, III ����	0�"�� IV

(B) I, III, II ����	0�"�� IV

(C) II, III, IV ����	0�"�� I

(D) III, II, IV ����	0�"�� I
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35. Arrange the following causes for industrial

sickness in the decending order of their intensity.

Industrial sickness is caused due to

I. Labour problem

II. Working capital problem

III. Marketing problem

IV. Export problem

Codes :

(A) II, III, I, IV

(B) I, III, II, IV

(C) III, IV, II, I

(D) I, II, III and IV

36. Arrange the following in the order of

statistical analysis

I. Regression analysis

II. Standard deviation

III. Arithmetic mean

IV. Correlation analysis

Codes :

(A) I, IV, II and III

(B) I, II, III and IV

(C) III, II, IV and I

(D) III, IV, I and II

35. '3	�.�/��������$���&��%��1��'l(%*��������"������&��%*�������"E

�����J�S"l"���������
����������'�V�����

I. �.�/�������������:

II. ���'M�S"l"�����
%����*�����������:

III. ���
��'���"
$�����������:

IV. D$�������9���������:

�*+a�_ :

(A) II, III, I, IV

(B) I, III, II, IV

(C) III, IV, II, I

(D) I, II, III ����	0�"�� IV

36. ����
 �� � � � �"�� r3 
 \ ( : � ������/ . ," > � +l"*���� �����'� � �� � � ��� ��� 
 � �

�������'�V�����

I. ��#9$������*���/.,">�+l(

II. ���������/���%*�������

III. �
������������:���������

IV. ���S"��
�
�����/.,">�+l"

�*+a�_ :

(A) I, IV, II ����	0�"�� III

(B) I, II, III ����	0�"�� IV

(C) III, II, IV ����	0�"�� I

(D) III, IV, I ����	0�"�� II



�������

 II 16 A-05-02

Note : Match List – I with List – II and select the

correct answer from the Codes given

below :

37. List – I List – II

(Nature of Good) (Income Elasticity)

a. Normal Goods 1. Negative

b. Luxury Goods 2. Less than unity

c. Necessary Goods 3. Greater than unity

d. Inferior Goods 4. Positive

Codes :

a b c d

(A) 3 2 1 4

(B) 4 3 2 1

(C) 2 4 1 3

(D) 1 4 3 2

38. List – I List – II

(Market) (Feature)

a. Perfect competition 1. Inter dependency

b. Monopoly 2. Intellectual

Exercises

c. Duopoly 3. Abnormal profits

d. Oligopoly 4. Ideal Market

Codes :

a b c d

(A) 2 1 4 3

(B) 4 3 2 1

(C) 3 4 1 2

(D) 4 2 3 1

(�
���	'��� : ��'
�����G(q&�%���//������
.�%��Q���M���6�'��5
����������"�G(q&�������
.�%*������'
�J�G(q&����
�
.�%&J�w&���#��'���������

37. i[j�� – I i[j�� – II

(�����	W���T�[������		) (g#�6��	�����*������T���		)

a. r3�����'l"������� ���!%� 1. ���l(&����������

b. /�(��������� ���!%� 2. o�����"����
�I"�&����������
c. �&�:�������'������� ���!%� 3. o�����"����
�I"�D��������
d. *�=���'���
������� ���!%� 4. ����*�&������


�*+a�_ :

a b c d

(A) 3 2 1 4

(B) 4 3 2 1

(C) 2 4 1 3

(D) 1 4 3 2

38. i[j�� – I i[j�� – II

(Market) (Feature)

a. ��
�#Y��'Z�'m�p" 1. �#��'��8��'
�v�����'��#����


b. �����r3M����:����� 2. �,��������!%��#	.�����*��%�

c. �M�����#&��:����� 3. �r3�����'l"��()(%�

d. �#	/�9�r3M����:����� 4. v�����'�����
��'���

�*+a�_ :

a b c d

(A) 2 1 4 3

(B) 4 3 2 1

(C) 3 4 1 2

(D) 4 2 3 1
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39. List – I List – II

a. Square - root 1. J.M. Keynes

formula

b. Liquidity preference 2. Baumol-Tobin

c. Equation of 3 Irving Fisher

Exchange

d. Money Illusion 4. Peter Diamond

Codes :

a b c d

(A) 1 2 3 4

(B) 2 1 3 4

(C) 2 3 1 4

(D) 4 3 2 1

40. List – I List – II

a. Rational 1. Propagation

Expectations Theory Mechanisms

b. Random Walk of 2. New Keynesian

GDP Theory Models

c. Real Business Cycle 3. Nelson and

Theory Plosser

d. Price Stickness  4. Robert Lucas

Theory

Codes :

a b c d

(A) 4 3 1 2

(B) 4 3 2 1

(C) 1 2 3 4

(D) 1 3 4 2

39. i[j�� – I i[j�� – II

a. �����'k����
%���
�&������� 1. GI"W0�"��<��W��p�*<�u

b. �������:&�M���'�R 2. X(���
�<"��(q*<�

c. ���
��'������L������'l"����� 3 Q	M
$���=s�+��'

d. �������:�)�"���� 4. F#���'����B����
���

�*+a�_ :

a b c d

(A) 1 2 3 4

(B) 2 1 3 4

(C) 2 3 1 4

(D) 4 3 2 1

40. i[j�� – I i[j�� – II

a. ��FS"&��������
���*�% 1. � � : = # 
 � #� � ,�0 � "� �

=���j
&������� 0�"�
�&�
$��


b. GDP 0�"
����KR`��� 2. *��
&��*����p�*<�u
*���������=���j
&������� *������
*�%�

c. ���� /������:'3��'������1% 3. * ��%u* <�� � ��� 	 0 � "� �

=���j
&������� '3>����'

d. ������'��%�������=���j
&�������  4. �1���'E�%��1|�

�*+a�_ :

a b c d

(A) 4 3 1 2

(B) 4 3 2 1

(C) 1 2 3 4

(D) 1 3 4 2
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41. List – I List – II
a. Marxist Model 1. Gives importance

to non-economic
variables

b. Harrod-Domar 2. Flexible capital
Model output ratio is

assumed
c. Solow’s Model 3. Productive

capacity is equal
to aggregate
demand

d. Kaldor’s Model 4. Structural Mal-
adjustment in a
growing economy

Codes :
a b c d

(A) 4 2 3 1
(B) 1 3 2 4
(C) 4 3 2 1
(D) 1 2 3 4

42. List – I List – II
a. Pure public good 1. Higher Education
b. Semi public good 2. Industrial

Building
c. Merit good 3. Zoological Park
d. Private good 4. National Defence

Codes :
a b c d

(A) 3 1 4 2
(B) 4 2 1 3
(C) 4 3 1 2
(D) 3 2 1 4

43. List – I List – II
a. Theory of 1. S.S. Alexander

Customs Union
b. Absorption 2. Jacob Winer

approach of
Balance of Payments

c. Price-specie-flow 3. David Hume
mechanism

d. P.P.P. theory 4. Gustav Cassel

Codes :
a b c d

(A) 2 1 3 4
(B) 1 2 3 4
(C) 2 3 1 4
(D) 4 3 2 1

41. i[j�� – I i[j�� – II
a. ���
��'��u�*������
*� 1. v	-�,�&����'���
.�%����

�'3�����?:&������ 
�
b. �S"�1�J��J������' 2. ����'[�"�����
%����*���7&��89 

*������
*� ��+89 ���=S"
������

c. rm���*������
*� 3. ��/�=+n�������

�������

��	�#����7&��89 
r3������'-�:�����*�������H4
7
����


d. �1%6��'�*������
*� 4. ���K�j����
��������*��N�v	-���
���:�����-������:���r3-��#Y��'M���
���
��'�8%��&���#�����
����'�;X(��

�*+a�_ :
a b c d

(A) 4 2 3 1
(B) 1 3 2 4
(C) 4 3 2 1
(D) 1 2 3 4

42. i[j�� – I i[j�� – II
a. .�"����j���#)�"�&��M������� ���! 1. 7*��N&���/���:
b. '3A��������#)�"�&��M������� ���! 2. '3	�.�/�����)�"���*��

c. ����	�<"������� ���!%� 3. w
&���.�%
d. ��#�'���,��<"������� ���! 4. G(�0�"����'A��l"
�*+a�_ :

a b c d
(A) 3 1 4 2
(B) 4 2 1 3
(C) 4 3 1 2
(D) 3 2 1 4

43. i[j�� – I i[j�� – II
a. �����E�<��u�0�"�
�0�"�*<� 1. 0�"�|�W0�"�|�W���I"$1~
�����'

=���j
&�������
b. ���H>
�#!%�.,"�+���
�*�� 2. G(���X<"�����B*����'

/���*�������
c. ������'���M��'Z���#���S" 3. �,�/�����S"
:�<��

��#����0�"�
d. =#W=#W=#W� =���j
&������� 4. $����E�<���1"��<"
�*+a�_ :

a b c d
(A) 2 1 3 4
(B) 1 2 3 4
(C) 2 3 1 4
(D) 4 3 2 1
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44. List – I List – II

a. Revenue deficit 1. Fiscal deficit –
Interest payments

b. Budget deficit 2. Total receipts –
Total expenditure

c. Fiscal deficit 3. Revenue
receipts –
Revenue
expenditure

d. Primary deficit 4. Budget deficit +
Government
market
borrowings and
liabilities

Codes :

a b c d

(A) 4 3 1 2

(B) 3 2 4 1

(C) 1 4 2 3

(D) 4 1 3 2

45. List – I List – II

a. Simple correlation 1. Median

b. Rank correlation 2. Mode

c. Frequency curve 3. Mean

d. Cumulative frequency 4. Karl Pearson
curves

5. Spearman

Codes :

a b c d

(A) 5 4 1 2

(B) 4 5 2 1

(C) 5 4 1 3

(D) 4 5 3 1

44. i[j�� – I i[j�� – II

a. �1��������� 1. �J.�"���� – ����p�6
���H>
�#!%�

b. ����~�<"����� 2. �����&�� 
��1�����%��–
�����&�� 
����:0�"������

c. �J.�"����� 3. ��'���*��
:��1�����%�
– ��'���*��
:����:0�"������

d. �'3���/��������� 4. ����~�<"�����  + ��#)�"�&��M
���
��'��<"����l(%�
����	0�"�����#�%�

�*+a�_ :

a b c d

(A) 4 3 1 2

(B) 3 2 4 1

(C) 1 4 2 3

(D) 4 1 3 2

45. i[j��  – I i[j��  – II

a. r3�����'l"����S"��
�
����
 1. ��������:$��&�������

b. �J��"����S"���
�
��������� 2. ��S"�[�"��������

c. '�*����#!*��:�,'? 3. �
������������:���������

d. ��
R&���'�*����#!*��:��,'?%� 4. �1��'>�=#0�"���'��*<�
5. =�80�"���'����*<�

�*+a�_ :

a b c d

(A) 5 4 1 2

(B) 4 5 2 1

(C) 5 4 1 3

(D) 4 5 3 1
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Para-phrasing

(Q. 46-50) : Answer the questions from 46 to

50 by reading the following

passage :

The Indian economy, on the eve of the

Twelfth Plan, is characterised by strong

macro fundamentals and a very good

performance over the Eleventh Plan

period, though clouded by some

slowdown in the growth in the current year,

continuing concern about inflation and a

sudden increase in uncertainty about the

global economy. The objective of the

Eleventh Plan was faster and inclusive

growth and the initiatives taken in the

Eleventh Plan period have resulted in

substantial progress towards both

objectives. Inevitably, there are some

weaknesses that need to be addressed

and also new challenges that need to be

faced. Some of the challenges are

themselves the consequence of the

economy’s transition to a higher and more

inclusive growth path, the structural

changes that come with it, and the

expectations it generates. There are

external challenges also arising from the

fact that the global economic environment

is much less favourable than it was at the

start of Eleventh Plan.

- An Approach to the 12th Five Year Plan

(Draft, August 2011)

;J�)��-�."(a


(Q. 46-50) : @�� $ ��� � ��� � ��M � � ��* ��� � � : � � � ��� � * ���� � ��� /

(46 � 50) ��#.�"N%�������:���������

�
&����'k&�������$1�*���*��N���������'-
��,���������

�����
���*�H������ :

)(��'&���v	-���� ���:�����-5� �#*��N
������� ��#l(����� ��
�����'�
$15

�%����B*�����
-%��'3���/�������
�&�%*�������H4����!
���W���#���� &��
� � 
 � ��& ��u� �'
� (2011) � �� " # � �'� $ ��� � ��%� � ��
 
 � ��: 
 5

�����J:%al"
�$���	
R����'
&����'�v
�J[�"*�������	0�"�����#�#
���
v	-�������:�����-�������r3�&��� $1����'8���*������V&����#	=�-&���%�

7*��N�#8��"�p�� �#����2
���������#l(��1��1%
������(�����
R

�#�����'�*������#���	�
R
�W��,�$�����
&������B*������K�j�����	0�"��

� � / ���& ��� � ��K � j�% A 1 : % * ���� r3 � � 
 � ��� � � ���� � # � ��� 2 
 � ��� ��
��#l(������1%
�����������*��N������':%��sH&��
$15�v���'
����

% A 1 : %�� . �"$ 1� $ ��l"O 0 �"� � ��� B * ��� � # ! � J $ ��9 �� r3 � � 
 R 
 � W

��'��&,�� ���K=+E� �,�
�i���	
������%=�*��� �2�N��%FS"*��&��%�

� ��� 	 0 �"� �� D � ��� � 2 � * ��� ��% = � * ��� � 2 � N� � � � � [ �"���� �

���
��':����&���*�N�'��W�L��"����2�N�����[�"����v	-�������:�����-

�����������	0�"�������	
&�����/���&������K�j����
��'k
����#	�����' *��
���
�*��
�������%*��5������M�1����RV*�����1�l(&����������
��'�8%�

����	0�"���������%�$��GC"U���
���*�%��#��':���r3*�%���M�1

���'8���*��/W��#����2
���������#l(������'3��'
)�"
���
�C"���#��� &��


�9�&������������*������
%&��%*�������%�$��GC"=�*�����#�#
����v	-���
��&������'l"
� ���%>� ���'8���*��� �2�N�X(�S":� ����[�"�>� ���
��

7*�N�'��W

12 ���� �#
��������'����#l(����� (�����r3�'������ �#�&��
5�v$���+�E

2011)
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46. On the eve of the 12th Five Year Plan, the
Indian economy is characterised by
(A) Very good performance
(B) Strong macro fundamentals
(C) Inflationary conditions
(D) All the above

47. The basic objective of the Eleventh Five
Year Plan is
(A) Faster growth
(B) Inclusive growth
(C) Faster and Inclusive growth
(D) Sustainable and more inclusive

growth

48. The present challenges faced by Indian
economy are the consequences of the
economy’s transition to
(A) Higher and more inclusive growth
(B) Structural changes
(C) Expectations generated by inclusive

growth
(D) All the above

49. The impact of global economic
environment on Indian economy during
Eleventh Plan is
(A) More favourable at the beginning of

the plan
(B) Less favourable at the end of the plan
(C) Both (A) and (B)
(D) None of the above

50. An Approach paper to the 12th Five-Year
Plan was prepared in
(A) 2010
(B) 2011
(C) 2012
(D) 2013

46. �#*��N
���������#l(����� ��
�����'�
$1�)(��'&���,�.�"�v	-�������:�����-
%A��l"

(A) ���(�����
R��#����'�
(B) �%����B*�����
-%��'3���/�������
�&�%�
(C) �����J:%al"��#	=�-&���%�
(D) "#B�,�L�1���!

47. �#����2
��������#
��������'�����#l(�����0I"����������������%A���:

(A) �,�$�����
&������B*������K�j
(B) ��/���&������K�j
(C) �,�$�����
&������B*�������	0�"�����/���&������K�j
(D) �%������$��%�����	0�"�������	
&�����/���&������K�j

48. )(��'&���v	-�������:�����-���#��� &��
�D�����2�
��*��N�����[�"���v	-���
���:�����-����@��#	�����' *����sH&��
$1����'8���*��/
(A) �����������	0�"�������	
&�����/���&������K�j����
��'k

(B) ��1�l(&����������
��'�8%�
(C) ��/���&������K�j����%�$��GC"=�*����
���*�%�
(D) "#B���ON

49. �#����2
���������#l(�������)(��'&���v	-�������:�����-"#B���#�#
����v	-���

��&������'l"���#)(���


(A) ��#l(������'3��'
)�"
���D����������*������
%
$1����!
�

(B) ��#l(������
&��:
���&������������*������
%
$1����!
�

(C) A ����	0�"�� B

(D) "#B/��L��1����
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